QUESTION BOOK] b

This qU?S_tiO“ paper contains 170 questions, / vy

All guestions are compulsory. / 84t 977 3fyans gm T 170 vy §
One question camies half mark only. / T 393 % ' ? !
Maximum Marks : 88 &""Z%ﬁa T 3w
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. 2 W92
1. How can you override the value of g, w2
clement defined in an external style sheet e CSs property for an HTML
(g) By redefining the property using inline ¢
(Cz g}’ ggarjng Ellﬂthc cookies SS
- v redefining the property using j

%D) The property cannlc)n be C)w.'.x‘ridgcl,:1 lemnal Css

KA WIS T ® gionied HTML o= % &9
- 3 IR

SIS T E 7 T CSS Wl & 7

(A) mcssmmwu‘mﬁ@m, - ,

(B) Wi T w1 GHISH H |

(C) 3= CSS W1 WM HT A ,

(D) S w1 Jiratdisa T€i f6ar 1

2. Which is the outermost layer in the
(A) margin (B) border (D) paddins
CSS afed giset & A1eIas 9@

(A) = (B) (D) ¥fEm B

3. Which of the following is not a vali order-style CSS property
(A) solid )g dotte rdcr ?B’)e line 6
Tr-=Ed CSS Wive] + forg au 7 E A THABIR ?

(A) HiteTs (B) SRS (C) 2wz (D) @

4. Which of the following HTML tags is used to creale a dropdown list in an
HTML form ? -
HTML & § fidra g (giasEa ) =9 & forg yas HTML 2n = 5 8
BAER?

(A) <nav> (B) . <ocl> (C) <select> (D) <fieldset>

: Which of the f'ollowin&attributes must be defined in an <input> element In
HTML form to cnsure that it is not left blank ?
Hmvﬂﬂwgﬁfﬁﬁmmﬁqﬁ;mm?ﬂﬂtﬂ@%. U <input> 34
# = 8 @ w1 &1 o gfonfua g =nfee ?

(A) filled (B) required (C) valid (D) mandatory

6. What is the CSS property name to make round corners for a <div> element ?

<div> W%%ﬁﬁa@ﬁwﬁ%mcsswﬁmm%?

SA border—-corner } border-curve
Y border-radius D) border -rounded
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7 Which of the 1), reate a list with capital

| : vy 1O €

Roman numbe;, OWing g the (TML tag
8T fing e correct | e

IEf%) <0§qu R aft HTML 2n ﬁqﬂ Ly

( LnghuI.,> Tifﬂwﬁﬂ?mq 1 type:' ‘0" >

(C) <ol tyPD ' “) <0 "R >
. : SL |r\_1"> ) <Ol ty e '
(\xl;lcgiﬂi!ﬁ:lcmlmn ()l'c("llpu(cr 5 r(: |)nccd vacuum tubes WI::h tr?tl}‘lgstm-s 7
Lo (48 RE} H ﬁh‘q q(B)\ SCCO:‘J;MC"‘“ (8) Thirdgﬁr@"ﬁa([), ??u
e e 1 200 (D) e
0
O Word g u © able in MS-Word ?

avigate (o ne - .ells of at
MS-Word 3 next and previous €€ wra A8 T aEd B 7
(A) %ﬂg and Al“"rﬂb 3eft Q’q iﬁpﬁvﬁ i\i { z:ﬁllrl'fN and Ctrl+PEF;{ -g
(C) Taband Curl+yy (D) Tab and Shift+Tab

/ Whi
/]{D; Which of the [‘ollowing iS not a valid cell address in MS Exeel ?
By " P MS Excel i 4 et wgel 761 & 7
(A) = B) Sheet2!C74
(C) Sheetl.pp74 (D) SDES21
y{ %\;’yé‘é ;gnlljlg ,;\dS Excel built-in functionsonfind tig 4® largest value from a

’Tg;ﬁﬂ A = T e s £ H R0 MS Excel ST e 1 2
gﬁﬁ. " ’t(. ‘}: i (B) LARGE (), (C)"GREATEST()(D) LARGEST ()
12/ 1ich of the following isfiot aChat upported by MS Excel ?
4 g_\u)’ﬁ\/glumc Chart(B) Scauc':-%lg{t t{gﬁ: SAq'ga Charty (D) Line Chart
BT A MS Excel grovmmfia =mé woi T8 8 ?

(A) TR Iy, (B) jw (C) Y@mER (D) @A AR

/ .
13/ WHat issthe key combination that you need to press to enter an array formula
/3 in M8~Exeel sheet ? y P y

MS-Excel 12 # U T0ofl g wim &t 3 fru naet S @1 gt S 9

H AEvEFaI R ?
(A) Alt+Shift+Enter (B) Ctrl+Shift+Enter
(©) Ctrl+Insert (D) Ctrl+Alt+Enter

14. 'What is the MS Excel formula to count the number of cells having value

“ greater than 40_in the range A1 : A102
od 21 : A10 UG H 40 & 3ftrs 7 ATl dedi 1 e & g MS Excel T@RIR ?

(A) COUNT (Al:A10,>40) (B) COUNTIF(Al:Al0, >40)
(C) COUNT (Al:Al0, ">40") (D) COUNTIF(Al:Al0, ">40")
to center align a paragraph ?

}ﬁ/ What is the shortcut key in MS Word
2 TR T FW & fer 3“'?:‘“ 1
MS Wordﬁ@ﬁﬂ?g'); Cuel+E (C) Ctrl+R (D) Cul+C

(A) Ctrl+] . Cu
16. How will you insert the special cl:arﬁctcr A" in MS Word document ?
MSWordy" 3 Forarg wdie A" 3T FA Faw w2
(A) Ctrl+Shift+@ A (B) Ctrl+Shift+: A
(C) Ctrl+Shiftto A (D) Curl+Shift+& A
Code 4
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177.

18/

/

19, What is the shortcut key to start PowerPoint presentation from

2y
200
o

21
s

22

7

24:

25:

What is the keyboard shortcut (0 insert the proay. |
MS Word 3 1t & "o e %c“ef " in MS Word document 7

A) Ctrl+Shift+@ a 1) Az 9
C) S _ ) Crl+Shift+ o A
What are the four types in Which varior +Sh'ﬂ+Qﬂ

PowerPoint are orgamzc.d. . Us animation effects 1N MS
A) Entrance, Eftect, Timing, Exit

C) Entrance, Emphasis, Motion Paths, Exit
(D) Entrance, Tweel, Timing, ;lt N
IR TSR fras MS Power oint H fafirs v £
(A) T, s, i, WRRE_ (B) R e e STARL B
(C) ¥, wefa, Hv o, U (D) T, o, e o

the curr ent

Bi Entrance, Tween, Motion Paths, Exit

slide ?

aﬁmaﬁmmﬁwm%msﬁmgmﬁm 2

(A) Alt+F5 (B) Shift+F5 (C) F5 (D) Ctrl+F5
What is the well known TCP port number for HTTP server?

HTTP @ & ferq gufeg TCP 9IE Tt 1 R ?
(A) 80 (B) 107 (C) 24 (D) 1023
What is the application layer protocol used by WWW ?
WWW gRI 9ga SRR TEhicd FT R 2
(A) HTTP (B) UDP (C) TELNET (D) TCP/IP
In which field of information technology, Leonard Kleinrock has 2
significant contribution ?
/§n Pro%gagnmmg Languages fB Internet 4,
§C Artificial Intelligence D) Microprocessor
a1 At & R 3 R FrTien 1 AEe U 4rar € 2
(D) ATERSAET

(A) Shmfii wmEr (B) ¥ (C) Fhmam

If a modem transmits at 56 {c_l?pg, then how many bytes will it transmit in

one second ? :
Ife we HigH 56 kbpsmﬁaﬁﬁm%,fhuz@_mfiﬁmimaﬁmm?
(A) 57344 (B) 7000 (C) 7168 (D) 56000

d to connect 5 nodes in a fully

How many full duplex links are require

connected mesh to%? )
ws QUi Getad 39 ﬁsmﬂsﬁ%mm@aﬂ@m)m
ST & ?

(A) 10 (B) 20 (© 5 (D) 15
Which of the following is a Layer-3 networking device ? '

A) R B) R C) Switch
. ) 3 31;% - é'a'f.:*,) egcater %(?) witc
(A) X (B) fdre () fa= (D) &

(D) Hub

5 Code No. : C-671/2021/Serfes-B
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27/

28.

29,7
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Which of the following is the correct yairing of data units and TCP/[p layers ?

(A) I\PP“C“"'?“ layer — Message, Network layer — Datagram, Data link
laver = Frameé

lication layer — pack «work layer = Fragment, Data link
(B) Ix\\p'[c’rﬂ I-‘mmc) cket, Netwo y

(C) :\pP““‘:“"?(:‘ '1‘3’97 — Segment, Network layer — Message, Data link
~ layer. ™ ! OCKe

(D) {“’p;ifﬁtﬂés!{?é? — Datagram, Network layer — Frame, Data link
ayer,—> Mes:

ARANRILE e X
- ’ , STl ! ->
ig; SN *m,wﬁam,mmm—»m

(D) TN R > 2T, s syere = . 21T R T — B

What is ﬂ;? nf;{’ni ;)f the protocol used for mapping an IP address to the
correspQn€ing link-layer address 2 g

& [P 38 m%-ﬁ@aﬁﬁn%mmmmmm%?

(A) DNS (B) ARP (C) SNMP (D) SMTp

The number of differences between corresponding bits of two words 18
known as

‘A Paﬂz B) Hamming distance

g:; Syndrome ] ED) Euclidean distance

8T T2 36 2t 3= ) vy oy < < 2

(A) ¥ B) g () R (D) gfER
What is the full form of CSMA/CD 2

A) Camer Sense Medium Access with Collision Detection

B) Camier Sense Medium Access with Connection Detection

C) Collision Sense Medium Access with Carrier Detection

Carrier Sense Multiple Access with Collision Detection

CSMA/CD 1 QUi &9 571 R 2

(A) I T Hifean vaw e Sk RYem

(B) HftaR T tfifsan valy fig wiwmm R

(C) Fiferom a=x wfifeaw vy fae Hfam fserm

(D) e &= wiceae i fag Fifm Rt

' ' blem is observed in networks.
.(IX; lg?#:g::atmn rg) wireless ! _ (C) “co-axial (D) optical fibre
IAIY LIH TN Aeash H Yaeiichd Bidl R |
(A) Fqe (B) @@  (C) H-uww (D) e wwa
The process of transferring an active call or data session from one cell in a
cellu?ar network to another 1s called <all'mieration
lt;mlilml\:/l;gtching D) hando ~
T oot e T O de ¥ 6T F e S S g # st e
1 ufikay e € ; ;
7 D HS

@) (B) WWG (€) #wfafim (D) #vs




. wice determines 1S locay;
/ A GPS device dete hod 9 On on the 2

320 A Siatellites using which met : |
i 1he satellites using rth bygeq on the data from

/ (A) LTE . (B
¢y total internal reflection I); Signal gtren
(QEF GPS fRama ¥4 ﬁjﬁl ihl Wmn Wk mm;: l;\;lgmlif’llll“h
feufa futfa s 27 FSTENE A g rlv.zﬂ qr HTA!
(A) LTE B) W 3
(C) ol S R (D) 3z

/" What are the first three bits in & class *C* |p addresgg -
P e C 1p o e R TR 2 s

(A) 110 @B) 111 (C) 01}

i s 001
14/ Which of the following is not & necessary condition for 5 d(c[v);lock to oceur 7
(A) Linear Wait " gg; No Prc-cmpuo;:(
(C) Mutual Exclusion Hold and Wy;
mmmﬁmﬁﬁﬁﬁfﬁmaﬂmmmg?‘
(A) Tt wefta (B) ydfiram 7
(C) uTTERe ST (D) Rw 3k welen

35./ Which of the following CPU scheduling algorithms have the largest qumber
7" of context switches in genera |

A) Shortest remaining time first §B; First come first serve

EC) Shortest job first (D) Round robin

mﬁamcpuwmﬁwzmﬁmﬁ%mm

- RN g?
(A) TTERH A9 T (B) &t T3l et Wil
(C) ogaH Hd JUW (D) T3vs TferH % o
36./ A is a code segment in which the process may be accessing and
/ updating data that is shared with at least one other process. 9, .
(A) semaphore (B) deadlock (C) mutex (D) critical section

@ﬁsw%ﬁaﬁaﬁmmﬁmaﬁtmﬁmmm

%sﬁmam@m%mm@m%l
(A) EHHER (B) Tfady (C) =& (D) Tt i

37, The paging scheme of memory allocation may cause

EA; external fragmentation B; cache miss :
C) page faults D) internal fragmentation
Tyfa e &t AR T @ B T R

38]  Which feature of Windows 10 allows the user to quickly minimize all open
windows except the active one ?
A)_Shake (B) Show Desktop(C) Peek (D) Snap

10 0 EW T forivay o ) it @t faver 1 3w & e w0
137 am%vﬁmmqﬁ;gw%? o«
(A) (B) WMiwpera (C) % (D) ¥

_.,__.—-—'_""_‘-'-‘—"‘ — —
7 Code No. : C-67112021,Ser‘l'e—s':§

(A) =@ fa@ved (B) Swigs (C) gBaN (D) 3Tl fa@usa




19.'
7 ap hics
tick Nou.s (B 1\\ItLh ¢c) Cortana (D) Snip & Sketch
ééra‘fo mmm%mﬂﬁmwmmq

(A) R AeE (B) e (©) (D) +ha ovg 2y
‘ of the followin language ?
/40. \w)“cksscmbl Langug glgalow level pg)gn}gg;lmg guag
;D; Python

O S S a—

(A) WEN W (B) ey (C) C++ (D) wrEs

A/u;' The process of locating and correcting the semantic errors in a soﬂwarc is called

T ot o e e Qs B gy

(A) ST (B) Eraifeen (c) feafiim (D) mrsf%m

thcb of the following is an mterpretcd ] 2
42. : programming language ¢

/ % B) Pascal C++

ﬁ‘a?ﬁh = ﬁﬁgﬁa (C) Eython (D)

3/ (A) C = (B) tm‘q;a (c) Iy (D) C++
4 What will be the output of the following code in a ‘C’ program ?
‘C,mﬁﬁqﬁg mangzazna‘mg? ol
printf ("$.5s", "Hello World") ;
(A World (B) Hcllo (C) Hello World (D) Syntax Error

/44,  What will be the output of the following code segment in a *‘C’ pro i
# the user enters 057 as input ? g gm program 1

'C'u?;ﬁﬁmfamw IITYE HT §IM A T e & =9 1 057 Wiy
int a;
scanf ("g%i", &a)
gr—intf ("%d\n"
(A) B) &7 (C) 107 (D) 47
Which of the following is not a valid data type in ‘C’ programming language ?
/ = % & @ | ¢ Wi s 1 3y e TR @ @ 9 e
(A) unsigned long int (B) unsigned char
{C) unsigned double (D) unsigned int
What will be the output of the following code segment in a ‘C’ program ?
‘C'ﬁmﬁﬁmﬁzmmmw%ﬂno

for (i=1; i<=10; i++)
{

sum = sum+1i;
if (i=5) break;

> i wgd", um) ;
() P51 Ry 1o © 1 D) 5

..-q-—“_-‘__
Code No.: C-671/2021/Series-B 8



what will be the output of the following cod
e

¥ o st 3 e Segmeny |
«C e WU H1 IHTICTYE F gment jp ¢
/ fdefine x 5+3 Bm 7 a‘C* program 7
#define y 4+3
int main () {
int z = x*y;
printf ("%d", z);
return 0;
}
(A) 56 (B) 44 (©) 20 ©) ¢4
which of the following operators in 'C’ . )
/ operator ? &P OPerator is calleq dereferencing
'C mﬁaﬁﬁmﬁﬁwAmmmmm%?
() (B) ©) & D)
_}9; In C*‘*r:,e l,:; cla-sus] I:::r:}:zers c;an fbe accessed using c1ass_name
¢ s ¢ er_ name witho need of creating the cl jects.
C++ H FAE Tl &I Hfa?réfaa'-rﬁt a2 & fam
class_name : : member_name I ¥aN Hth TFHH H Fhd © |
(A) static (B) public (C) friend (D) protected
}0-’ In C++, a function is a function that is not a member of a class
£ but c%n access all the members of %h;\1 class. 3%t
C++ e Tk e FATY 1 T TET 8 Afe
AT I CaE HL ThdT & | s,
(A) friend (B) static (C) recursive(D) publiC
51 InC++, a is a special member function of a class having name
7 beginning with a tilde(~) character followed by the name of the class.
(A) constructor (B) operator function
(C) finalizer (D) destructor |
C++ e 1 TR e G & fed s & Tk 491G foes
() S T T P e e 2 .'
(A) TEgFRT (B) 3R G (C) wiETemsat (D) o
/SZf Which of the following is not a correct statement about Java language ?
(A) Javais a high level programming language.
(B; Java does not support multiple inheritance of classes.
(C) Java compiler generates bytecode.

g?g-r Java supports the concept of pointers.
F A A 1 HUF AT T F IR A T T8 8 2

(A) T O I TA{E S we g |
(B) e i % g SR 1 EHe 7€ SR |
(C) STl HHTgeT ATsehis Ghrd w2 |
(D) SITE Uig=eX ) Hehed1 &1 AR FHl R |
9 Code No. : C-671/2021/Series-E




53.
54,

55.

(A Number (B) Num

4 in a file name ;
" which of the lnllowmg characteps can not be used in

ficrosoft Windowg 9
I&Al) - (Hyphen) B) (Undcr‘;corc)

: Mark)
ggﬁsgn‘%ﬁmwnw ®) ?(Qucqstr':’rgrqaf%ﬁmmm%?
(B) (mtpm-{ C) z:?m (D) ? (= T

lication ?
wing is an ¢ | client software ﬂﬁp

MOZl a Firefox mail clie osoft Access
t l-llcﬂlla B) Micr

Microsoft Outlook
.Gﬁg ﬁa {D |Cr

(A) E B W eCasts
tis the resol %D)) TG STTSTTH
:\;Va;ht:;;ﬂi HD solution of g full HD r%o;uor y

(A) 800 %600 (B) g 2048 x 4096 (D) 1920 x 1080
What is the wrapper clas ve) (G

S for primitive data type 'int' in Java ?
mnm m int' <% gaq mm ‘7

Which_of the f (C) Int (D) Integer
c . r .
Excl'-’len In j!avgl'}owmg arithmetic operation may throw an Arithmetic

) subtraction (B) addition C) division (D) multplication
%ﬂﬁaﬁammﬁzﬁﬁuﬁmm IR yeRfa

AqETE FHFAT R ?
(A) HIHTH (B) " Tm (C) wm (D) T
Assumc at#i]t a Jav rogram there are three variables a, b and ¢ with data

wﬂl produ con syntax e respecnvely Which of the followmg assignments

LUE %’Gﬁmsﬁumﬁm h 3| T a, b 3k
fraE | B i ﬁﬁmfa"mm“‘g&a%'ﬁmm % Dale

(A) b = a; (B) a = c; C) ¢ = a; (D) ¢ = b;

A is a malware that can replicate itself without execution of
infected files or any human intervention.

(A) v:rus@ tro_|an gcg; cookxemﬁ;d% worm N
Faﬁaﬁwﬁqmmm b

(A) I (B) gieH (©) (D) afd

Which of the following is the correct syntax to derive a new class ‘Y’ from
an existing class ‘X’ In Java ?

A1 5 foyermm 9o X’ 8 T8 T Y " A & I wd e B
AR ?

lements x{}{ class Y : X({
EA} g}-ggg § g;%ends X{} % class Y derives X{ }

61/ Which of the following is an output manipulator in C++ ?

Code No. : C-571/2021/Series-B

2?2
P 3§ 2w C++ | ARex |
(A) ostream (B) endl " (C) iostream (D) cout




/ : 1ands i 7 -
/" which of the following commands jp y o =
6 ggaﬂﬁﬁﬁﬁﬁﬁwm?mqﬂﬁ%gq;mgggnnmca file ?
[ (A) ren ®) ;':elllr;wine - ©) my s g & 7
, In C+, 'Whmh 0[: u'"l: c())vcrloa llis ‘thc Correct (D) .
6 function in a class X0 “g{'ﬁi\.g_f*'_o;)crator gc"'ﬂmtmn of a member
O B, -+ SR TS ITTR G o o o s Pt

/ gama@dr
o operator + (conSt X Ga);
i a X &
(B) x overlo + (const x &gs;

C) x overloa
%D X operator (const X &a, const ib) ;

' What does the acronym GPL mean in free software world ?

& onyrm,
" (A) GNU Protection License (B) GNU Per .
(C) GNU Programming License (D) GNU Pu [)S]?:zﬁli,:gcs:gse
e Wi Td § AT A GPL %13 ored 2 7
(A) GNU RaTH S (B) GNU ¥
(C) GNU shonfim &3 (D) GNU & amar

8, Which of the_following SQL statements is used to add a new column in 3 table ?
B S B e e Sired & oT (1 ¥ T SQL e w1 wam fapanr ST € 2

(A) CHANGE TABLE (B) ALTER TABLE
(C) TRUNCATE TABLE (D) UPDATE TABLE
¢ ~What is the restriction on the use of “continue™ statement ina ‘C’ program ?
/ A) It can be used inside switch ... case only.
7 BY It can be used anywhere within a program.

C) It can be used inside loops only.
D) It can be used inside if statement only.

‘C’mﬁ“continue“@?ﬂ?%mmﬂuﬁfw%?
(A) TTH! Fad f&....... Fq ¥ e @ fear S EHAT 2 |
(B) Sﬂﬁm%aﬂmwtﬂm%mmmﬁl
(C) < e Y B ST SN R ST FehT € |
(D) m%aaifézﬁz%mmﬁmmm%l

/‘f. The ‘Scanner’ class used to get input from the user is defined in the
standard Java package. :
mmﬁ%ﬁﬁmﬁﬂwﬁmmﬁ%m‘ﬁm'm
1 5am gl @ |
(A) Java.lang(B) java.awt (C) java.util(D) java.io
68 Which of the following progrz_lmming languages is not object-oriented ?

e § @ @ | ST e e - ?
(A) Java (B) C++ (C) C (D) C#
y/Which of the following network protocols is an ap lication layer protocol ?
i & § w1 |1 2T TIhicl T S 27
(A Ip (B) UDP (C) TCP (D) HTTP
. 11 Code No. : C-67172021/Series-B



‘”I Ms-Excel, if cell Al ¢

a 9 "
. ntains the vajye 50 and cell A2 containg value
700 %, then what g::l‘l be the value of 1o formula “=A1+A2" 7 :
/ Ms_gxg}ﬁm 3V AL 50 R oy 3 A2 8 A 10% R, D g “=Al+A2"
F A .
7, k}g‘% gg ?e ollowing pmgmmming lariguagcs is used to create Macros in

7 Ms-Excel % AR fififg gy ST ST T W B o
4 ?A) Javascript  (B) Juva'mﬁqﬁam Nk

v (C) Ada (D) VBA
- In Himach2! Pradesh ypeq und js
/‘/11 In Higach Sl er forestst

S
T W aBkm gy g (C) 39743km? (D) 41567 k2

73.  Population density (pe, 59. km) of Himachal Pradesh as per census 2011 is
W WHIZUU%W%.H.WWW(maﬁ%m.)%
(A) 12‘:? . (B) 114 ©) 119 (D) 923
74, Himachal Pradesh became art ‘C i
3 o p state 1n which year.2
(A) 1950 (B) 95 (C) 1954 (D) 1966
75, Largestdistrict of Himachal p

: radesh (argawise) is
" (A) Chamba (B) Kinnaur )

S ITER fr.9. TR 77 ﬁrm%c) Lahaul-Spiti (D) Kangra

(A) ==t (B) Rt ( (C) wRE-wfifd (D) wime
_/76. Dehar is a tributary ¢f Which riyer of Himachal Pradesh '?( )
A) Yamuna eas (C) Ravij (D) Chenab
. iRy TS L1 R 2 |
- g\); ug::rl \, (Bc)1 _ ang o ‘(C)f Huaﬂ (D) fema
A e y t tI' t 1
/(&) Kinnabr - (B) "Mengh district of Himachal P sirmour
w91 ardt f2.w. & g 27
(A) fR=ik (B) W ©

(D) fauk

The first capital of Kehlur dominion of Himachal Pradesh was located at
which place ?

78.
B) Ghumarwi (C) Naina Devj (D) Haripur
é%.%%aﬁﬁg%aﬁmm%amm@mﬁ? P
(A) fammag (B) YWIE! (C) Fmeft (D) &R
/7{- The last ruler of Jaswan Brincelg_ state tg ngalc_:hal_Pradesh was
A) Um%:l Singh (B) Puran Q‘#{S{Qg&) alip Singh (D) Ajit Singh
. <1 s | !
(ﬁg.tﬂzfﬁz @) e (O TR (D) i
; : ?
_}0? SUbathu was fpunded in wl;:ch year
Ty fovw d AR ET oD (©) 1847 AD (D) 1857 AD
(A) 1835 AD __(B) “%% -
Code No. : C-§71/2021/Series-B




F / aSU arh fort is lé)cntic\,d iat wl}lch l
‘J@'Jrg é%ﬁ a agan (C) p(,!)'{ achg] pm(lt:‘qh g
) (B) qWl’l@ (C) (D) Sujanpur
wh:ch expedition Mehmood G,

(D) garre
| (B) Ninth MVi plunde
it %m%mwmﬁ NG T
h droel O o . (D) wewd
ra hydroelectric project is constrycy
?‘ (A) Yamuna  (B) Satlyj ((c:'“‘d ch‘gzléCh river 7
' Wﬁﬁ'@amﬁm?ﬁ ﬁﬁﬂ%v (D) Ravi
) 73T (B) Hags (C) frm 0) i

: bhllaShl University is located in which district of Himachal Pradesh ?
ra

‘.ll
f %mla (B]% Solan (%aSlmmur (D) Mandi

| (A) Rt (B) (C) ﬁmﬁ’{ (D) wudl

? ! pHimachal Pradesh Ghopghatl isa

| g\; %a}:};?ﬁ Y (B) River (C) Glacier (D) Folk dance
L*) it (B) T ©) fewg (D) FHTS

][arkanda fair is celebrated at which place in Himachal Pradesh ?
Nurpur (B) Pragpur (C) Jhukhala (D) Manali
7. § fore T W ATehvS] Iedd WA A8 ?
b\) L (B) HTT (C) gur (D) wATedt
ﬁ Indlan Prime Minister Narendra Modi has recently been conferred with the

) Tegion of Merit’ honour by which country ?
{A) Russia (B) United States

%gmn%g%ﬁm%ﬂmmﬁﬁ‘mmﬁm'wm

- R ? .
W Rm (B) RS (C) s HsH(D) z;.nk.i.
be Indian cricket team scored its lowest ever total in Test Cricket recently

t which team ? South :
“(}) England (B) Australla g(;?) Sri %%ﬂka %3) ou Aﬁ‘lg,“

;’flﬁ;‘lﬂ S X g @ A T

) B) agfma (O sfeTent (D) TfEur 3k

K-I Missile, IMSAS and BOSS system, which were recently
I banded o he Armed Forces, were developed by W hich organ%auon 2

: ver to thé Gﬁgﬁ"l @ 'QFﬁ ’Gﬁﬁ'mgu

sl’i“g’

e —




: -ognition 10 Yogasana as a
Which country recentl P cial recognition g
cmmn.ml\(, g;%n? y offered offi

\) _Sri Lanky f:,mgd or¢ (D) India
’ &%%ﬂimmﬁmm My“"'“‘" (o o I 5 e

(A) et (B) !zmm (c) ﬁ?’ﬂﬂ'( (D) wma

91. Inacertain code Ianguabc ‘3a, 2p, 7c’ means ‘truth is eternal,” ‘7¢, 9a, &b,

e 30’ Means ‘enmity s oy ef ; ‘4d, 2b, 8b" means ‘truth does not".
Whlch of th lollomnb mcfugnzlnnf::g in that language ?
Hﬁt}? d 2b b, 76 1 o1 ‘g4 ¥4 e’ AN 7, 9a, 8b, 3u;
gy T A G iy 4q, 2b, 8b 1 A4 ‘74 T A2 ¥ | 78 W H
Frer 4 8 foern e o qztfq—a
, W o B T (C) 8b (D) 9a
2. Which is different from the 2
3 R TR P B 5 rest 7
(A) 5l (B) 61 (C) 41 (D) 31
93 H\Vél‘crl@?m th% ‘_q‘f_%g“g term in the number series ?
2,,,]0 :50, 500, ]000
(A) 2 - (B) 10 (C) 50 D7%1000
94,/ Missing terms in the letter series -
mmﬁ@aqag
cb__be _cabchb_ A \
A) ﬂaCCb (B) baafa (C)" bcabe (D) aaaab
Which is not a Indug valley site' ?
(A) Rapag, ¥ B cChanhudaro (C) Daimabad (D) Chennai
E’fm@f‘wmamaﬁ%? .
(A) g (B) W@t (C) gmmmEr (D) =
96" Which is called ‘ Amitrochates’ by Greeks ?
(A) Chandragupta Maurya (B) Bindusar
© Blmblsar (D) Ashoka

At g Rl «arfte=es e man 2
(A) E’PTHW (B) ﬁ:;a'r( (C) fafemm (D) 3
9/-/ Which Delhi Sultan introduced the system of *Dagh’ & ‘Chehra’ ?

B) Balb
Léi ﬁ)]r%‘}jﬁ%"}_ggﬁlfn - ‘%B‘ﬂ § ; Flz;ozaghah Tughlaq
ET'T
(A) :ﬂ?rrdgm (B) W
(C) 3aém el (D) fRirreme g

4 h of the following ? o
/9 g %r a%sm%md - B;;llclka j (C)” Deshraj (D) Bhojraj
HHraTs & | fopud g0 ? -

(A) !MUGI (B) el (C) < (D) =R

14
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din 1856 on

/ which was annexe of mal
. Awa adh (B) Satara (C admmi
’a %18561‘13@3@ 1 T mm’qg‘“& s""“(%')?icunpur
/(A FEY (B) gadmb ©) whh Ty
i;rahmo Samaj was founded by D)
I‘& {,\ [S{wan;{l v ckananda {B} Siiils THIL
¢) Raja ammohan Aras
f Jaﬂ %1 Ram Kri shna Parar;hansn
1 (f‘) zauillaalill: (B) wam=
O Wtﬂ‘ﬁ'ﬁqm vork of which r) g
. Hindustan® was of th
g i{ eTa;gknat Das ¢ §Ollg;nvul1 2.:
) S.N. Bannerjec (\,: irshna Verma
£ g™’ ﬁmﬁﬁﬂmﬁ Hid "é?
(C
(A) khil Ghosh is assocnated wxi‘271 hich mﬁﬁaﬁnﬁm ?) AR.H. §
Mndan am ég) Ka"-"m (C) Tabla (D) Flute
(C) GER) 5y atadt
-"’,i\’hrcbisthe ne:ares(.}3 g]an\;:t xiﬁssun? - . (D)
'(A) Mercury. . e Earth
5 TEHTAL? i (D) Mars
A) T (B I ) = (D) T

. What 1s t

{A) Mt. Koscuisko
C) Vinson Massxf
F1 gad 1 91 A @t

(A) El%d:}a%anadl (Bl)# Godavari
(A) HETal (B) Teatt

" Which is not a fibre crop ?
Tobacco (B)r pSllk

¥ 1 9 wEe TE 8 ?
W) g B) R

i Which is the highest peak of Australia ?

A) H1. HIEER (B) H1. TA'gd

Whlch river originates from Brahmgiri ran

he apprommate percentage of Oxygen in the Earth’s atmosphere ?

(A) %8% (B 2;"/‘3 ﬁ(c) 1% 27 (D) None of these
(A) 78% (B) 21% (©) 1% (D) ¥ & g T
m;lc(lj‘ lfr]r?x;mtll shas gl('ga)tests :'rgrtggal exte?ct: 3? Nm Sy 6 s :

, imo- trato-
.%mﬁam Sfgs e gaig? ) o-Clmulug
(4) FuEEg  (B) WA (C) aﬂf&!ﬂﬁa (D) w-=are g

g; Mt. El’brus
39 Mt. Aconcagua

(C) ﬁmﬂm AT GHIHTAT
e in WestemG at? N

(c) ishna )*LCauveri 0
I Bl & 2 S

(c) o (D) mﬁﬁ "

(C) Jute (D) Cotton

@m0

e w—

N m———
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/ which Schedule of |

109. gali;% isrslaha (Bl;dlan c DSlitution deals with allocation of seats in The

O W Y i 2y eoond i
c) Third (D) Fa

?E)Fﬁﬂ (B;ﬂ%ﬁ?mg&%mﬁ%mﬁm&a@?

o i O

'// 4 A C d . iie .

y c) Fundamenta] rjoy, B) Political right
{ & 3T&R;T( 2 éa;t &Dg Directive Principle of State policy
(A) fafire s AAften

ing Sitar, ; (D) T4 Aifer % P frgr
»-l“' I?\ Izgl,ccgtr!Cal e'S‘e?g;r“““’“‘ energy changes into

10} Chemical encrgy B) Light energy

1 T Ty {D None of these

C) TN Frsii & ) a@réﬁ
AWhich is used i @) ¥ o
112 W‘“‘"&"&c acid photogrﬁphy ! '
S (A; 1 3T (B) i%lg acid (C) Oxalicacid (D) Tartaric acid

A) RF T (B) AR :
113. (Sn-zall Pox is caused gy e (C) sfafers WRiE(D) eréf ufrs

// %@;%gua?n i %B) Bacteria ~ (C) Protozoa (D) Virus .

(A) 9 (B) Sftamg (C). W&en (D) frm
114, Antonym of ‘Asceticism’ is

. (A) Bliss, . (B) Pleasure (C) Joy (D) Trance
115 gn;n t\;i;,r?s substitution for ‘A person who regards the whole world as his
/ (A) Patriot (B) Nationalist (C) Cosmopolitan(D) Metropolitan -
yé. I suggest that the meeting postponed.

(A) 15 (B) wouldbe ((?) be (D) would have been
Cl/lﬂ./Mcaning of the idiom/phrase ‘Hard pressed’ is

fA} Bewildered EB; Insulted

C) Hard discipline ‘ D) In difficulties

118- ‘wEiaa’ <1 |fY fa=dg @
(A) @@ +8a (B) Wa:+dd (C) HWE: +dd (D) WAl + I6d

/IW- EELE: Kt

(A) g (B) &= (C) wgsiife (D) reEdYTE

120. ‘favam’ o1 fagmorg __

7 (A) Raem (B) fawammm (€ favam () favaTEEE
. T @ qataar=h @

& (A) SR (B) fe=t f(C) BRIt ()

16 IS
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fh ch is the act of using emails and g,

) \k 2aling 1thbll’ sensitive information Suchl Media g, . f t

i e detal setc. ? $ Userp cking the users into
a(dPlushmg B) Hacking ©) : lames, passwordq credit

ﬁ‘ﬁm ]-Iecll()n

MW%WQFQWW% X ’%F'Z(D) Cybcrg%xallgégg
(A) (8) B ©) & T 1 T
rh;ch of the followmg storage media Use LASER b (D) g%r"l

ea ik :

at10ns
0 e SohdStateDlsk(B) Flo(%)y Disc (c) Hm dD s
18

/ ﬁ@l LIRS

CPU usgs I¢ eating machine ¢ cle : D :
b Tnh ctions in thepprogr%m one by 031,1(: S Consisting of (D) cp g“execme
.s,; fetch store, execute {Bg —— —_
{c fetch, decode, store% N oot deg%ge , eXecite
4@t g T Th b 9l TH ﬁqu"q 5 ﬁ-?qemme
gua;ﬁa mgrﬁ <55 1 AT hEal & | ‘ 3 ffifa
(A) SRS (B) =, femre
Jo e, TS, TN (D) ¥, Rk, , Tl

What are the different clasmﬁcatlons 0
LIZS 1o Flynn taxonomy ? fcomputers organization according

4) SISD, SIMD, MISD and MIMD (B
ng Pipelined and Parallel : %D% %141133 I;/gcr&%nd e

(A) SISD, SIMD, MIS MIMD (B) ﬁﬂ,mﬁaﬂtﬁqﬁq
{’!ﬁ? NIECRIEC! (D) RISC 3 CISC
3, The terms hit and miss are associated with which of the following ?
/ (A) CD-ROM ca ememory )pmnarymemoiy (D) har ard disks

qﬁzﬁzaﬂ(ﬁaﬁm mar
D) & 5=

127 In Whlch of the followmg storaoe meczla the data bits are stored along a
Slngle %nra track
(D) Hard Disk

ROM Flash Dnve (C) Flo y Disc
zﬁém ) e e et g & 2

o )CDt‘m (B) qamggga (c) q‘&ﬂtﬁ%ﬁ ©) T

. The control units are implemented using two ﬂPDf°3°h‘5 own. &
microprogrammed control and control SPOOL

A) Imerrupt-dnven (B) hardwm DMA rmésf
%‘[“?‘" SeHTgal ) SUTTHI 1 SR s it g gl I
W Peew s aﬁmﬁ’é D) @
Ny ;’;)“ W—ﬂﬁﬁ(B) PELS) (€) M.;\M ) 16( ) i memory in
many bits .
Vie- dder}ssablle n%%ergqmred to adir® mmﬂﬁ?ﬁ 3113ﬂ$f'[€@%‘?

?-’.“3'? TUEA e W AM x 16 TR TR AT " L onSeries-B
oy f4 X 165@%@“‘5@76 O(D()f ﬁqlﬁOZIIScries -B




addressing mode, the operand value is the part of the § Instruction,

Lot
‘ m:mc_...f—- (B) re 1ster (C) immediate (D
ﬁy(}\) firect N b My it ) indirect
/ﬁﬂ (B) fﬁﬂ (C) 38 (D) 3ryeas
locality of reference is based on the assumptiop that recent]
13 es’c‘d'ﬁe_ni_ s tend to be accessed again in the near future y
ﬁc) ndom (B) _ sequential (C) tem%poral é‘D) spatial
' %z,; f T HIRyE @ TR e
ﬁﬁz“ﬁw & gamq i g R | - :

p) WRsE  (B) R (C) Iwddl (D) wnfys

Wblch of the following is not a technical specification for a printer 2

Dupl B) Aspect Ratio (C) DPI (D) PpMm
?l %ﬁgr%e;%g@%?t R i (e 712 2
(A) g (B) allaqm(C) DPI (D) PPM

133 Wthh of the following is not a unit for measuring CPU speed 7
Y, 48 i @ CPU e 7197 6t e 31 781 © 2
(A) TWIPS (B) MIPS (C) GHz (D) FLOPS
134/ “There is a table called “em loyee” having columns emp code, em n

/ %ﬁ%rt. gender, salary. Which of the following is the COITect SQ
the mammum sal in all female employees ?

“employee” TH o ﬁw emp_code, ;g ri%gle deptt,
ender, salary & | "li%al Wial[t‘i' CIRETL SQL
e e

}A) SELECT MAX (salary) FROM employee WHERE
gender="FEMALE"

(B) SELECT MAX (salary) FROM empioyee IF
gender="FEMALE"

(C) SELECT MAX (salary) FROM employee  WITH
gender="FEMALE"

/ﬁ/(D) SELECT ~MAX(salary) FROM  employee  HAVING

E

gender="FEMALE"
Which of the following is not a relational database m: anagement system ?
ﬁqﬁﬁaﬂ?mmmmmmqﬁg o
(A) SQL-Server (B) MySQL = (C) MongoDB (D) Oracle
+ Which of the following is the correct SQL command (o list all the departments
and average salaries for which the average salary is more than 20000 ?

96 20000 | e R, ﬁ@a;
'?ﬁ%ﬁ?mHéSQLmﬁmtﬁﬁm 39

SELECT department, G(sal rron employee

A) GROUP BY department WITH waG (asla?fd,_-\?{'*f.l L 6.?0*0&&:

(B) SELECT department. AVG(sa)ay FRON  employee

/) GROUP BY departmeﬂtt HAVING AVG (\s)ru_ M)“ ~ %DOOOY

(C) SELECT departmeﬂ C’ WIAV (SE—Uar\:) ?’*.‘?F'.’ leOVGE
GROUP BY departmen 1ERR AVG (Salar ) L 50800

(D) SELECT department: Avg( i . 0000
) GROUP BY department IF AVG(QQ??\) R I T}“u—oye
TThe—— B URSEY S

.‘-h.'-_"‘g
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f
/ o ﬁ } B T WS e I w% “OMstraint in relational

A) PRIMARY KEY
%C) CANDIDATE KEY (D gNIQUE TR
mich of the following is a *‘Transactio OT NULL
1 e e TN S g oon
/ 91 SQLwangUﬂge SOL
(A) GRANT (B) COMMIT (C) /\LTEE command ?

what is the value of (1 101101); in decjy
139 gﬂﬂﬁammﬁ(llmlm)zwm%%?ersy D) SELECT

/
/(A) }117 (B) 109t Syt €) 119
Whlc ic gate is represene Y the g (D
140 H%Wg i h@a;?l Shown bely, ) 131
(A) (B) NAND - (C) oRr \
1 a1 /What is ﬁle value of (96.25 )¢ in bin ﬂUmBers o (D) NOR
oY T 9gfa 7 (96.25 )19 B AH ystem:?
(A) (1100100.01), - (B) (1100000 001)
(©) (1100000.01), (D) (1110000.011),
142/ “Which logic operation is represented by the follow
J/ cack| mmm-mmﬁgﬁagmg truth table?
X y [x?y ;
0 0 1
0 1 1
1 0 1
1 T 0 |- .
(A) XOR ___(B) NAND ~(©)OR . (D) AND
}4{ is a combinational logic circuit that has 2" input lines, n

selector lines and one output line.
(A) decoder _ (B) flip-flop (C) Counter (D) multiplexer
@mﬁaﬁmm%ﬁmﬁzww n Tt g 3 T

HIIEYE G % | .
A) grprst (B) Tt (C) FRE (D) HeRI=TTT
What is the bmary representation of (~37)o I 2’s complemcnt representation ”
2’s e Trequr & (=37) o 1 fammerdt faeaor
A(A) 10100101 (B) 11011011 (C) 10110111
1/5 What is the excess-3 representation of (90)10

(D) 11000101

(90),, T 3TTTRI- 3%@%‘«%? 00001 (O 10100001
A 00— iReries B
@ 11000011 (B) 10100011 ﬁ’)’j_l_.,c o GG B2 SeriesB
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/ .
/oy of the following is not g yar:, er in octal number systemn ?
146¢ gé‘:%‘a CIERIRS R v@%\%'% ‘L”Sl? T T 2 2 e
S s B) Qo ) (7356 (D) (786)
. what i 9’s com )Iimqnt of 587 9
1/4" 587"5]9’5%3; é?
<) 3 (B) 421 (C) 313 (D) 412
/ which of the following bit-wige operations has the same effect as
148 multiphcallqn by 2 ? .
/ (A) }i"’&??ﬁé’y c_)lnlmc bit gpsition (B) R(();?{tc r.ll;;gl:l’t) by one bit position
i 1ift with one bi iti with 2
%:%ﬁ e fore-amgw aﬁ@éﬁ%‘é‘%% éymﬂ TITE R R 7
() © W smen g A e () T fae TR AT 9 o
© o Tore arereen < = g Ry (D) 2% ¥d XOR

Vhi ' i . below ?
49. AWVhich logic gate is represented by the truth table shown _
! o mmﬁm%ﬁm@wmmm% ?
_// X Y Xy i
’ 0 0 0
0 1 1
1 0 1
1 T | 0 |
(4) AND (B) OR (C) XOR (D) NAND

150, What is the Boolean expression represented by the K-Map shown below ?
/" ﬁéa‘iﬂng-Mapmﬁaﬁﬁ SoTen 1 8 ?

XN\ 0 |1
010} 1
Il]1]0

(A) XOR (B) NOR (C) AND (D) NAND

N

* FM EmiT e NAND wiieh o1 YarT 91 99 7 S |1 siiaes e @ g 22

A
[ D
D
(A) AND (B) NOR (C1 OR (D) XOR
152. A step-by-step description of the method for solving a computational

74 Which logic gate is realized in the circuit using NAND logic shown below ?

- problem is called | |
(A) aprogram ‘i’)’ an algorithm
(C) adata flow diagram .. o (r )1 ilowehart | )
T sifymerTede Aae &a @ @ IR T8 i) qi9 g - g gl SEendl @
(A) m U*H Ueitiey
C) s FE (D) segp 7



)55:

/54

ich of wi is a sort nga ?
Wh the follo ng 1 i lgorilh
m

(A) Pre-order sort
g:’; ﬁBSbb]c sono gg) Binary sort
S € U Gl wiRed § 9 ) Shuffle sort

(A) H-si&ar (B) T () wmamR  (p) o A

What does the f]
owchart shown belg
’ﬂ%mhrmqaﬂméwmmg“f,mmp"‘e ?

x=x+i
i=i+2

gg) Factorial of n (naim‘gfzm)l oA T -
) Sum of even atural numbers essthann(n & | whd GeAiAl =l <
odd na e g T 1

(C) Sumofodd natural numbers less than n :
tural numbers (729 1 Yrhd G F14IM)

(D) Sum of first n natw
Id in a whatsapp message ?

155,

"~ (B) By typing a

P

How will you make some text bo
the text inside <b> and

(A) By enclosing
x* pefore and after the text

(C) By enclosing the text inside a pair of ‘@
(D) By enclosing the text inside a pair of ‘#’
#ieg (Bold) 8 HI 2
T |

Wmﬂﬁﬁﬁ@émﬁam

(A) maﬁ<b>3ﬂt</b>%3z=aqm
(B) m%qgéaﬂtmﬁ‘*'zrsqaﬁl
(C) TG H ‘@ % T B I IREGE P |
(D) Maﬁ‘#'%yﬂ%mmﬁl
TK;: f:;drfgme of a(gvittgggg&ount is a(l(S:()) knowg as .
me i
HIIVE h L aﬁmﬁg&ﬂrﬂmm% ation,; (g tveet
(A) &= (B) e (C) A~M (D) 2
51 Code No. : C-671/2021/Series
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/ which of the following s an 1. bile payment App based on the
l§f7-. UMn]!Iﬁ ed payments Interface (UPI)“}?han moblic
& (A) BHIM (B) DigiLocker €) ATAL (D) ARJUN
(5@ # T T IPITE Y gz (UPD ST T ST HraTe
e’
(a) B) fefim () ore (D) ¥
158, Which of the following is a popular ypjce assistant developed by Amazon ?

(A) Alexd (B) Cortana Teneo (D) Siri
/ f(a,;ﬁaaﬂ#m aﬂﬁqmﬁmﬁﬁ;&;@m (=it TRrr) 2 2
* (A) (EESL (B) =Rk (€) am (D) f&b
159, Who among the following designed ‘Difference Engine’ and ‘Analytical Engine’ ?
- (A) Howard Aiken (B) Charles Babbage

(C) John Mauchly_ (D) Allan Turing

2 R Remta S 3R Yireafeper S RO 01 2

(A) gaS AEHT  (B) =Ted aremt (C) samEa (D) THEm
160, Who among the following proposed the concept of “Stored Program
.~ Execution” ?
(A) Tim Berners-Lee (B) Allan Turing
(C) BobKahn (D) John von Neumann

wyuTia TS FreaTer <6t Heheu e 3 & fore SreTierd < 2
A) Tm-TE-e (B) Wi (C) dEwEd (D) SHEEH
/161. How many bytes are there in one terabyte ?

T ETEe 3 Torae T Ea E 2
} A) 240 (B) 220 (C) 210 (D) 230
162/ What is the full form of “QR Code” ?

(A) Quartz Readable Code (B) Quick Readable Code
(C) Quick Rectangular Code (D) Quick Response Code
“QR Code” <1 qU1 &9 TR ?

(A) T fead Hig (B) Touw fdaw %18

(C) f3s Yoo UIe 18 (D) T fed =i

163/ What is the name of the computer that defeated the world champion Gary
Kasparov in chess in 1997 7
(A) Intel Paragon (1) IBM Summit
(C) IBM Deep Blue _y (il‘ ) ray Titan
S g e e & R 1997 H VA T S Yy s 9 0 ?
(A) ot (B) IBMAFE O NN Fawy (D) s e

——
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i.h of the following software is Used g

\ Orimg
|6~f ) Mncrosoﬂ Word ( Mlc ing
‘ ( Microsoft Paint (D) roSOﬂ Outlook

& G m%mmﬁﬁmmmmg}mggwﬂpoim

(C) h ’ (D) %%
of MPEG ? HierTifg

¢ what is the full form
_1,6" {PEG 1 oof 9 'ﬂﬂ
BN Multimedia &
) Moving Pictur®

¢) Multimedia & Photo

(D) Motion picture Experts G10

S Experts Group
graphs Expert Group
up

I{ﬁ.ﬁ- %n —;I:h is equal to_ %mlg;}[t% | L
- (A) 48 (B) 9 B (D) 72
. lowing is &»VCGtOf gr 9
1671\%”1::: N fﬁﬂ;eaioér&m A EHC € ?
(A) BMP @) SVGr o) o
168,..-”Whlch of the following is mat a selec dobe Photoshop
agic Wand (D) Rectangular

(A) Clone (B) Lasso
‘ mﬁﬁaﬁﬂm@ﬂw F R @R 2 7
(A) T (B) @reEl (C) | A dvs ] (D) T

169’ Which of the followméi‘s not avalid URL?=ther I

/ tmid s e M URLTE & ?
(A) http://www.mywebsite. com/index.html@topi cl
(B) http://www.mywebsite.c com/index.html2?topic=1
com/index. html#toplcl

(C) http://www.mywebsite.
D) http://www.mywebsite.com: 8080/index.html
ging the text color of

17 . . p
16 Which of the following is the correct CSS rule for chan
all <p> elements in the document to blue ?
Fee & 1T & ¢SS fram f= T

W?ﬁmﬁ<p>a-a’fa;
Soben 2 7 TR T Ry A A
(A) <p>{color: blue;} (B) #p{color'blue;}

(C
) P{COlOI‘ blue } 5 (D) p{COlOI blue;}



